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1.

(a)  Write down expressions for each of the following.

(1) The total cost, in pence, of 3 buttons at e pence each and 2 sewing needles at

(c) Write down an expression for the following.
The total amount of money donated to a charity by 5 people, given that the mean amount
of money each gave was x pounds.

(d) Write down an expression for the area of the right-angled triangle shown below written
in its simplest form.

rcm
4gcm

Tgcm

Diagram not drawn to scale
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2.

Owen works in a DIY warehouse.
He is asked to sort some tiles.

He has the following shapes of tiles to sort.

Square Kite Rhombus Parallelogram
(a) Heis asked to sort the tiles using the table shown below.
Complete the table.
Tiles with equal diagonals All other tiles
62(/0.(& Rhombv s

Para ([6(%/6!/44
i be

(b) Owen is then asked to sort the tiles differently using the table shown below.

Complete the table.

(2]

Tiles with opposite sides parallel

All other tiles

S g0 re Va rq([e@am

Khombes

/(f{?@
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3.

2

(a)  Abby is having difficulty deciding on a four-digit code for her debit card.

To generate a code, she decides to write down an expression in which she would substitute
her age.

When an expression produces a four-digit number, she could then use it as her code.
Abby is 17 years old.

In each of the following expressions, y is Abby’s age.

Evaluate the expressions to find which of them Abby could use to produce a four-digit
code for her debit card. -
You must show all your working and answers. éj = ?

et pd R Dok

_____________________ j“QCj:Cr?)g;C(;f):QSS

3p(2y* + 5)

%CQ;MS):%@!?)(QC(?)%@

= 5
___________________________________________________________________________ gzzquﬁfés

I S ‘fo({‘ﬂ!‘l

) o.289CI7) +GO;Z:IO%3

S P

(b)  Charlie is also having difficulty deciding on a four-digit code.
He decides to use the smallest four-digit number he gets by squaring a prime number.
Find Charlie’s four-digit code.

Vo Nombess =2, 3,5, 7:10,13,17 (9,23,29,
Pate. MombprS Spacedd :4,9,35,49,R1,161,289,36(,. %4

_________________________________________________________________ 22 llEly e oL
_______________________________________________________________ SO TSN g e
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4. A survey is to be carried out to find out how popular MP3 players are across the various age

groups of the general population.
The survey is carried out by asking people questions as they come out of a cinema.
Two questions from the survey questionnaire are shown below.

1. How old are you?

Put a tick in the box under 10

10 to 20

20 to 30

older than 30

2. Do you own an MP3 player?

Put a tick in the box Yes

No

(a) TIs this a biased survey? Give a reason for your answer.

Faﬂd@?ﬁa 3@60/%2 _____________________

(b) State a criticism about the design of question 1 in the survey.

Age. range. oplon. of. 0=29,.10220. ..
1?0 ....... i S 3 O ....... /W ...... LA / O
o/ %%ﬂg@@wyfay@ﬂw/%

ol [1]

(¢) Write a question, with a selection of answer boxes, to find out how much people are
prepared to pay for MP3 plaW
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(d) If you were to use your question to carry out a survey by asking 100 people today and =
again tomorrow, would you expect to get exactly the same results? Give a reason for your
answer. )
No., as repeating a téct can lead
(1
(e) A different survey was carried out to find the favourite colour of MP3 players.
The results are shown in the table below.
Number of people
Favourite colour The first The second The third
of MP3 player 20 people asked 20 people asked 20 people asked
Red 2 § 8
Black 5 4 3
Silver 13 11 9

20 = A0 = )

(i) Did any person answering the survey have a favourite colour of MP3 player other
than red, black or silver? Give a reason for your answer.

No, uc totnl % each. colaumn. is..
Bl o e o

(ii) Calculate the best estimate for the probability that one of the people answering the
e ays that their favourite colour of MP3 player is black.

Peo
© WIEC CRAC Ltd. 4361-02) Q Tlll']'l over.



Danny is setting out a treasure
The first clue is found 300m from the start on a bearing of 120°.
The second clue is found 360 m from the position of the first clue on a bearing of 040°,

—

340
«0

r/;1wnl/\ N

The third clue is found 100m from the position %f thg second clue on a bearing of 280°.
- g

-
-

- qcm(a} Using a scale of 1cm to represent 40 m, complete an accurate scale drawing of the

treasure hunt route, showing the positions of the three clues.

. B
—, ) ’\\Oo p }SOO 260 -42 80 =gp°

Treasy e ‘C A

(b)  Write down the bearing of the start from the position of the first clue.

________________ o Tl TR . R A

(]

(¢) Write down the distance and the bearing of the start from the position of the third clue.

A0S e =3 0 S 4p) = 4I0M

Distance 49’0 m

- Bearing 9‘50 o
2]
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9

Natasha, Aled and Sara buy a computer between them.

They share the cost of the computer in the ratio 2:3:5.

Natasha pays the smallest share and Sara pays the largest share.
Aled pays £195 towards buying the computer.

=20 feres = 65%!0:1—’631(3)]

- (ost %:%50
Complef
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(a) (i) Whenvisiting a hat shop, customers had the circumference of their head measured.
The table shows the results for the customers who bought a hat during December.

Head circumference, ¢ cm Number of customers Cf )
50 < e< 54 51 12
54 < c<58 S( 3
58 £ e<62 LO) 14
62 < ¢ < 66 L4 2

Calculate an estimate for the mean head circumference.

/{/[c(,Pomfs 5& 56, 4065

(ii) The hat shop sells 4 different sizes of hats.
The conversion table from head circumference to hat size is shown below.

Head circumference, ¢ cm Hat size
50 < e<54 1
54 < e< 58 2
58<ce<62 3
62 < c<66 4

A salesman places an order for new stock for the hat shop.

The salesman’s order form shows that about half of the hats ordered are size 2.
The owner of the shop says the order should show that about a quarter of the hats
ordered are size 2.

Who is more likely to be correct, the salesman or the owner of the shop?

You must give a reason for your answer.
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(b)  Sales of hats were recorded each season.

Summer | Autumn Winter
2011 2011 2012

Number

(i) Calculate the 4-season moving averages and complete the table below.
| 348 t1G% 1266 +1 70
[ ]

i Ce e e«
do ECEMEgiroddp 9z T

L DAY

4-season time
period ending:

4-season moving
average:

(i)  Explain why using the 4-season moving average is useful.
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Eliza makes this sketch of a pond.

Diagram not drawn to scale

The shortest distance across the pond is 6 m.
The longest distance across the pond is 20m.

Eliza estimates that the surface area of the pond is 120m?.

(a) Explain why the surface area of the pond is less than Eliza’s estimate.

She. has @//mxmméoe( __________________________________________________________

(b)

.......................... be' o rectead@., TELS.

%&/L G Séouk réféf«/z/ Q...

You will be assessed on the quality of your written communication in this part of the
question.

Calculate an estimate for the surface area of the pond that would be more accurate than
Eliza’s estimate.

Show all of your Worklng and explain how you have decided to calculate your estimate.

©WIEC CBAC Ltd. (4361-02)
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Calculate an estimate for the total length, in metres, of rails in the UK in 2010.
Give your answer in standard form. '

14
Examiner
1
9. (a) In2010 there were approximately 34 204 000 metres of railway track in the UK. o
Each section of railway track has two rails.
The diagram shows a length of railway track.
<
-
& |
v
J
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There is a 3cm gap in every 19 metres of rail.

In one of these countries there is 543 x 10° metres of rail.

Calculate an estimate for the total length of the gaps in the rail, in metres.
Give your answer in standard form. 5 43 x| 0 IZ

T2 934,403_

(b)  Insome countries there are small gaps in the rails to allow them to expand in hot weather.

Examiner
only

3cm

/iam

\
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destination of the parcel.

The table gives the grouped frequency distribution for the distances, measured to the nearest

16

10. A company is considering changes to its price list for delivering parcels in a local area.
The company is considering a charge based on the distance between the warehouse and the

km, for 60 parcels.
DARGE e 1-10 11-20 | 21-30 | 31-40
nearest km
Number of parcels 10 30 15 5
(a} Complete the following cumulative frequency table.
Distance (km) <05 <105 <20-5 <30-5 <40-5
Cumulative EO
frequency 0 10 4 0 5 S
36410 w©+IS 5s+§ 1
(b) On the graph paper below, draw a cumulative frequency diagram to show this
information.
Cfumulative A
requency
e = T R R R L
? HHH A
e e
i RN SR AT |
50 1 HHHH M 1
! ) AL ] F A} N I 1
Y 7 A | ] T ; i
1] i \1\‘ ] 4 [ 1 ] I 1
I j L b7 _;_r“” AR AAN
fESsseSiaisniss fdiiiaE
EESiE £ 6L 16
WA A~/ I
30 E ’ um
Wi I /i HERY & .‘ a. K
! | 0 (A0 N | B T
EREEEES B Eu EEEEE =
7“5“ | L ; 1 |
i !; T 7 i B ,L.L |
. ”1‘11‘2‘ | ‘ ; ;- ( | | | ?
. AT mm F I
" RRiET T B i EEEE
10tk EmaE
i AEEEEEY EmERE AE ) AN RERREE N F T )
00‘ == 10’ I| : 20"’ ‘ 30‘ — - : — 0= Distance (km)
3 162003 [2]
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(¢) Use your cumulative frequency diagram to find an estimate for the median and the
interquartile range of the delivery distances.
You must show your working.

Median 18 Interquartile range \\
[3]
(d)  For these 60 parcels, the shortest delivery distance is 2km and the longest delivery

distance is 37 km.
Draw a box and whisker diagram to illustrate this information.

Medien__

i 508 0 j.4 I
1 S T 7 E R EE | il

B V10 B O T A

7 28 O W74 0 5

W A Er e e e 170 7

: T A\" .\_' ) : ‘,‘ I “ I

o IRmE e EanE m

e ,,j‘/ I ™

] _","I i /f 1 ) }r__
= ! ‘ I \ } 4 ‘ 1 ;j‘
- e
B AE |8 ‘ ; b2 o o T R . I o I 11
i {0 | ] i :U':E‘;‘i EEER E

0 10 20 30 40 50 Distance (km)

[4]
(e) Previously, the delivery charge was £2 for each parcel.
The new pricing plan being considered is:

* free delivery for all parcels up to the median delivery distance;
* £4 per parcel for all other deliveries.

Would you expect the company to profit from the new pricing for parcel delivery?

Explain your answer.
[N

o 1.5 W?O&(%Z CSame y Les above b
hall (7
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11. (a) As part of a quality control exercise in a supermarket, the time taken to scan 20 items
was measured for each worker under the age of 40.
A printout of the histogram that illustrates the results obtained is shown below.

Frequency density
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o D )

o Jo EEEESmEE S E— i — Emaar s e =
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oht p———ont S22 12
i R e N,

| ] {558 e

.

| I
| I TS0 R i

| ) 0

0 X 4 8 12 28

é—-———> Time in seconds

Unfortunately, the labelling of the frequency density axis was missing from the printout.
It is known that there were 12 workers under the age of 40 that took more than 16
seconds to scan the 20 items. o

(1) Complete the labelling of;&e scale on the frequency density axis.

e

WEE e e

Examiner
only
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(1)) Calculate how many workers under the age of 40 took part in this quality control
exercise.

Areat = (0 S 6)4( 4 x5 £ (48 (6x3)

............................. ;50l’)‘
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(b)  As part of the quality control exercise in a supermarket, the time taken to scan 20 items

was measured for each worker aged 40 or over.
The table below shows the results.

Time in

seconds, 7 O<t<4 4<r<8 S<t 12 12216 | 16<i< 24
Number of "

workers 0 2 36 24 g

> 4xX=3% T 4zzag 7 §x=€ 7

oC = 2C =" _—
Complete the scale on the frequency density axis and draw a i ogram to illustrate the
distribution on the graph paper below.

e 4.2, SR, GE =230 SGoredh Gl 0
= ..X=6< e, DN Be=p L SeEl.
S SR W LTS,

f; “‘ I I R ] I 1T | 5 ] I
J » I | EEVFE L] 1 Tdfi) 0 Il ERE!
j T ' H ) '

i gEn gais
6 i T ii
éf *rl T ] | —\| 1 ; J
At L
i INNEY INENSESENS SSERSNENEN NN NEEEE S AN R SRS S = .
0 T 8 12 16 20 24 Time ;n g}cconds
& )

[3]
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(b) Find the time at which the acceleration of the particle is zero.

(c) Find an approximation for the acceleration when 7 = 7. & DFC(,W Ten % v (7 I

State the units of your answer.

(d) Find ai approximation for the distance travelled by the particle by the time 7 = 8.

END OF PAPER
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12. The formula v = 8¢ — ¢? is used to calculate the velocity v m/s of a particle at a time 7 seconds
after the start of an experiment.

(a) Draw the iaph of v = 81? t? for values of ¢ from 0 to 8.

zl2..C26. M=
ro (v
EuEEEEF EANERREREE M’*’"“"%_‘g’/‘ T
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1
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O ! 9 K3 & S b + §‘

te ooty  °
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(¢) Which of the two groups of workers is, on average, quicker at scanning 20 items in the
supermarket? You must give a reason for your answer.,

wedlian (Fes
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